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BOOKS - BITSAT GUIDE

INDEFINITE INTEGRAL

Practice Exercise

1. If  then f(x) is equal to

A. sinx

B. cosx

C. logsinx

D. cotx

Answer: D

W h Vid S l i

∫ dx = log log sinx,
f(x)

log sinx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1qoIZtCjPDqg


Watch Video Solution

2. If , then  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫f(x)dx = f(x) ∫{f(x)}2

{f(x)}21

2

{f(x)}3

{(x)}
2

3

{f(x)}
2

3. If

dt equals

A. 

x = f' ' (t)cos t + f' (t)sin t, y = − f' ' (t)sin t + f' (t)cos t  then ∫[(
dx

dt

f' (t) + f' ' (t) + C

https://dl.doubtnut.com/l/_1qoIZtCjPDqg
https://dl.doubtnut.com/l/_Vq2ufAujci29
https://dl.doubtnut.com/l/_1u8YC1dBhonp


B. 

C. 

D. 

Answer: C

View Text Solution

f' ' (t) + f' ' ' (t) + C

f(t) + f' ' (t) + C

f' ' ' (t) − f' ' (t) + C

4. If  then  dx is equal

to

A. 

B. 

C. 

D. None of the above

Answer: D

W t h Vid S l ti

f(x) =

∣
∣

∣

∣
∣

0 x2 − sinx cos x − 2

sinx − x2 0 1 − 2x

2 − cos x 2x − 1 0

∣
∣

∣

∣
∣

∫f(x)

− x2 sinx + sin 2x + C
x3

3

− x2 sinx − cos 2x + C
x3

3

− x2 cos x − cos 2x + C
x3

3

https://dl.doubtnut.com/l/_1u8YC1dBhonp
https://dl.doubtnut.com/l/_hJU4nZKJ1oP5


Watch Video Solution

5.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

sin 2X + C

− sin 2x + C
1

2

sin 2x + C
1

2

−sin 2x + C

6.  is equal to

A. In 

B. In 

C. In 

∫tan(x − α). tan(x + α). tan 2xdx

∣
∣
∣

∣
∣
∣

+ C
√sex2x. sex(x − α)

sec(s − α)

∣
∣
∣

∣
∣
∣

+ C
√sex2x

sec(s − α). sc(x + α)

∣
∣
∣

∣
∣
∣

+ C
√sex2x. sec(x − α)

sec(x + α)

https://dl.doubtnut.com/l/_hJU4nZKJ1oP5
https://dl.doubtnut.com/l/_h3GXmlXx9jMC
https://dl.doubtnut.com/l/_FlpYfosXoQDw


D. In 

Answer: B

View Text Solution

∣
∣
∣

∣
∣
∣

+ C
sec 2x

sec(x − α). sec(x + α)

7.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
x2 + cos2 x

x2 + 1. cosec2xdx

cot x + cot − 1 x + C

−eIn tan − 1 x − cot x + C

C − cot x + cot − 1 x

−tan− 1 x − + C
cos ecx

secx

8.  equal to∫e3 logx(x4 + 1)
− 1

dx

https://dl.doubtnut.com/l/_FlpYfosXoQDw
https://dl.doubtnut.com/l/_AmqtCyvk0lDK
https://dl.doubtnut.com/l/_ftmn1hX5MNMg


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

log(x4 + 1) + C

log(x4 + 1) + C
1

4

−log(x4 + 1) + C

9. If , then k is equal to

A. log2

B. 

C. 

D. 

Answer: D

View Text Solution

∫ dx = k sin− 1(2x) + C
2x

√1 − 4x

log 2
1
2

1
2

1

log 2

https://dl.doubtnut.com/l/_ftmn1hX5MNMg
https://dl.doubtnut.com/l/_gdcwCYwTGBmO


10.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫ dthη
(sin θ + cos θ)

√sin 2θ

log∣∣cos θ − sin θ + √sin 2θ∣∣ + C

log∣∣sin θ − cos θ + √sin 2θ∣∣ + C

sin− 1(sin θ − cos θ) + C

sin− 1(sin θ + cos θ) + C

11.  is equal to

A. 

B. 

C. 

∫ dx
In(x + 1) − Inx

x(x + 1)

− [In( )]
2

+ C
1

2

x + 1

x

−In(x + 1)2 − (Inx)2 + C

−In[In ] + C
x + 1

x

https://dl.doubtnut.com/l/_gdcwCYwTGBmO
https://dl.doubtnut.com/l/_psdLnMshj8Nj
https://dl.doubtnut.com/l/_Pt2VuX07Rokl


D. 

Answer: A

View Text Solution

−In( ) + C
x + 1

x

12.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫ dx
(x − x5)

1 / 5

x6

( − 1)
6 / 5

+ C
5

24

1

x4

(1 − )
6 / 5

+ C
5

24

1

x4

( − 1)
6 / 5

+ C
−5

24

1

x4

(1 + )
6 / 5

+ C
5
12

1

x4

13.  is equal to∫ dx
x3

(1 + x2)1 / 3

https://dl.doubtnut.com/l/_Pt2VuX07Rokl
https://dl.doubtnut.com/l/_CIEe4DuQrz8W
https://dl.doubtnut.com/l/_a3ZRoq70qtnF


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(1 + x2)
2 / 3

(2x2 − 3) + C
20

3

(1 + x2)
2 / 3

(2x2 − 3) + C
3

20

(1 + x2)
2 / 3

(2x2 + 3) + C
3

20

(1 + x2)
3 / 2

(2x2 − 3) + C
3

20

14.  is equal to

A. 

B. 

C. 

D. None of the above

Answer: C

Vi T S l i

∫ dx
√1 + √x

x

2√1 + √x − 2In
∣
∣
∣
∣

∣
∣

∣
∣

+ C
√1 + √x + 1

√1 + √x − 1

4√1 + √x − 2In
∣
∣
∣
∣

∣
∣

∣
∣

+ C
√1 + √x + 1

√1 + √x − 1

4√1 + √x − 2In
∣
∣
∣
∣

∣
∣

∣
∣

+ C
√1 + √x − 1

√1 + √x + 1

https://dl.doubtnut.com/l/_a3ZRoq70qtnF
https://dl.doubtnut.com/l/_E2pyjwutgJrD


View Text Solution

15.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
X + 3√x2 + 6√x

X(1 + 3√x)

x2 / 3 + 6 tan− 1 x1 / 6 + C
3

2

x2 / 3 − 6 tan− 1 x1 / 6 + C
3

2

− x2 / 3 + 6 tan− 1 x1 / 6 + C
3

2

x2 / 3 − 6 tan− 1 x1 / 6 + C
1

2

16.  is equal to

A. 

B. 

C. 

∫ dx
tanx

√sin4 x + cos4 x

In(tan2 x + √1 + tan2 x) + C

secx + C

√1 − tanx + C

https://dl.doubtnut.com/l/_E2pyjwutgJrD
https://dl.doubtnut.com/l/_dlnytWgqJyxr
https://dl.doubtnut.com/l/_K2hLTlvSF69X


D. None of the above

Answer: D

View Text Solution

17. If  is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x ∈ ( , ),  then ∫ esin x cos xdx
π

4

3π

4

sinx − cos

√1 − sin 2x

esin x + C

esin x− cos + C

esin x+ cos x + C

ecos x− sin x + C

18. Integral of  with respect to  isf(x) = √1 + x2 x2

https://dl.doubtnut.com/l/_K2hLTlvSF69X
https://dl.doubtnut.com/l/_gLQslgyFszi8
https://dl.doubtnut.com/l/_zFAaeaErUx3O


A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

+ C
2

3

(1 + x2)
3 / 2

x

x(1 + x2)
3 / 2

+ C
2

3

(1 + x2)
3 / 2

+ C
2

3

19. If , then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

f(x)sinx cos xdx = log{f(x)} + C
1

2(b2 − a2)

1

a2 sin2
x + b2 cos2 x

1

a2 sin2
x − b2 cos2 x

1

a2 cos2 x + b2 sin2
x

1

a2 cos2 x − b2 sin2
x

https://dl.doubtnut.com/l/_zFAaeaErUx3O
https://dl.doubtnut.com/l/_IhnN1hNgRNek


20. Let , then 

equals

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x2 ≠ nπ − 1, n ∈ N ∫x√ dx
2 sin(x2 + 1) − sin 2(x2 + 1)

2 sin(x2 + 1) + sin 2(x2 + 1)

log
∣
∣
∣

sec(x2 + 1)∣
∣
∣

+ C
1

2

log
∣
∣
∣
sec( (x2 + 1))

∣
∣
∣

+ C
1

2

log∣∣sec(x2 + 1)∣∣ + C
1

2

21. If  then g(x) is equal

to

A. 

∫ dx = f(x)√1 + ex − 2 logg(x) + C
xex

√1 + ex

x − 1

https://dl.doubtnut.com/l/_IhnN1hNgRNek
https://dl.doubtnut.com/l/_8xG0venflY5X
https://dl.doubtnut.com/l/_ZqAY3vhaMHCa


B. 

C. 

D. 

Answer: B

View Text Solution

√1 + ex − 1

√1 + ex + 1

√1 + ex + 1

√1 + ex − 1

2(x − 2)

22.  is equals to

A. 

B. 

C. 

D. None of the above

Answer: B

View Text Solution

∫ dx
√(x2 + 1)[log(x2 + 1) − 2 logx]

x4

(1 + )
1 / 2

[log(1 + ) + ] + C
1

3

1

x2

1

x2

2

3

− (1 + )
3 / 2

[log(1 + ) − ] + C
1

3

1

x2

1

x2

2

3

(1 + )
3 / 2

[log(1 + ) − ] + C
2

3

1

x2

1

x2

2

3

https://dl.doubtnut.com/l/_ZqAY3vhaMHCa
https://dl.doubtnut.com/l/_PLG03tiZmPnY


23. If ,

then

A. 

B. 

C. 

D. None of the above

Answer: C

View Text Solution

∫ log( )dx = log t − − logu + + C
e4x − 1

e2x

e2x + 1

e2x − 1

t2

2

t2

4

u2

2

u2

4

t = u = ex + ex

t = ex − e−x, u = ex − e−x

t = ex + e−x, u = ex − e−x

24. If an anti-derivative of f(x) is  and that of g(x) is co x, then 

 is equal to

A. 

B. 

C. 

ex

∫f(x)cos xdx + ∫g(x)exdx

f(x). g(x) + C

f(x) + g(x) + C

ex cos x + C

https://dl.doubtnut.com/l/_kPyviRmfwzS4
https://dl.doubtnut.com/l/_4uJCjeoajd5M


D. 

Answer: C

Watch Video Solution

f(x) − g(x) + C

25.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫cos 2θ log( )dθ
cos θ + sin θ

cos θ − sin θ

(cos θ − sin θ)2 log( ) + C
cos θ + sin θ

cos θ − sin θ

(cos θ + sin θ)2 log( ) + C
cos θ + sin θ

cos θ − sin θ

log( ) + C
(cos θ − sin θ)

2

2

cos θ − sin θ

cos θ + sin θ

sin 2θ log tan( + θ) − log sec 2θ + C
1

2

π

4

1

2

26.  is equal to∫ dx
x2 + 1

x(x2 − 1)

https://dl.doubtnut.com/l/_4uJCjeoajd5M
https://dl.doubtnut.com/l/_ww00OF1BVuav
https://dl.doubtnut.com/l/_zmg2ClCl8iLD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log( ) + C
x2 − 1

x

−log( ) + C
x2 − 1

x

log( ) + C
x

x2 + 1

−log( ) + C
x

x2 + 1

27.  is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
dx

1 + x + x2 + x3

log √1 + x − log√1 + x2 + tan− 1 x + C
1
2

1
2

log √1 + x − log √1 + x + tan− 1 + C

log√1 + x2 − log √1 + x + tan− 1 x + C
1
2

log √1 + x + tan− 1 x + log√1 + x2 + C

https://dl.doubtnut.com/l/_zmg2ClCl8iLD
https://dl.doubtnut.com/l/_j0wCi7RK5rT6


28. If  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ = p(x),  then ∫ dx
dx

x + x7

x6

x + x7

log|x| − p(x) + C

log|x| + p(x) + C

x − p(x) + C

x + p(x) + C

29.  is equal to

A. 

B. 

C. 

∫ dx
(x + 3)ex

(x + 4)2

+ C
1

(x + 4)
2

+ C
ex

(x + 4)
2

+ C
ex

x + 4

https://dl.doubtnut.com/l/_j0wCi7RK5rT6
https://dl.doubtnut.com/l/_oIEZQcgVgW6g
https://dl.doubtnut.com/l/_DvwWsx6O4ene


D. 

Answer: C

View Text Solution

+ C
ex

x + 3

30.  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

∫etan − 1 x( )dx
1 + x + x2

1 + x2

xetan − 1 x + C

x2etan − 1 x + C

etan − 1 x + C
1

x

31. If ∫[In(Inx) + ]dx = x[f(x) − g(x)] =
1

(Inx)2

1

Inx

https://dl.doubtnut.com/l/_DvwWsx6O4ene
https://dl.doubtnut.com/l/_5JivY2tbFvrk
https://dl.doubtnut.com/l/_J2FeRjLOeHez


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

f(x) = In(Inx), g(x) =
1

In(x)

f(x) = Inx, g(x) =
1

Inx

f(x) = , g(x) = In(Inx)
1

Inx

f(x) = Inx, g(x) = In(Inx)

32. dx is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
x2 − 1

x4 + x2 + 1

log( ) + C
1

2

x2 + x + 1

x2 − x + 1

log( ) + C
1

2

x2 − x − 1

x2 + x + 1

log( ) + C
x2 − x + 1

x2 + x + 1

log( ) + C
1

2

x2 − x + 1

x2 + x + 1

https://dl.doubtnut.com/l/_J2FeRjLOeHez
https://dl.doubtnut.com/l/_T2p7QgbhNTyN


Bitsat Archives

33. If , where k is an arbitrary

constant, then A is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx = A cos 8x + k
cos 8x + 1

cot 2x − tan 2x

−
1

16

1

16

1

8

−
1

8

1. If  can be

A. x

∫f(x)cos xdx = f 2(x) + C,  then f(x)
1

2

https://dl.doubtnut.com/l/_T2p7QgbhNTyN
https://dl.doubtnut.com/l/_eewJQocAETTe
https://dl.doubtnut.com/l/_F2Eikm4URxcl


B. 1

C. cosx

D. sinx

Answer: D

Watch Video Solution

2. If , then find the

values of a and b, respectively.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx = a tan− 1( ) + C
4

sin4 x + cos4 x

tanx − 1
tan x

b

2√2, √2

√2, 2

√3, √2

√2, 4

https://dl.doubtnut.com/l/_F2Eikm4URxcl
https://dl.doubtnut.com/l/_5g4RYRbWmssz


3.  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

(ex + e−x)2

− + C
e−x

(ex + e−x)

− + C
1

(ex + e−x)

+ C
1

(ex + 1)2

+ C
1

(ex − e−x)
2

4.  is equal to

A. 

B. 

C. 

∫ dx
sin 2x

sin4 x + cos4 x

2 tan− 1(tan2 x) + C

tan− 1(x tan2 x) + C

tan− 1(tan2 x) + C

https://dl.doubtnut.com/l/_5g4RYRbWmssz
https://dl.doubtnut.com/l/_31VoBWOf4fdI
https://dl.doubtnut.com/l/_GxI76zecJrhP


D. None of these

Answer: D

View Text Solution

5. If , then

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

∫ dx = tan( + a) + b
1

1 + sinx
x

2

a = − , b ∈ R
π

4

a = , b ∈ R
π

4

a = , b ∈ R
5π

4

6.  is equal to∫
d(cos θ)

√1 − cos2 θ

https://dl.doubtnut.com/l/_GxI76zecJrhP
https://dl.doubtnut.com/l/_yw4ZVdoKRnqf
https://dl.doubtnut.com/l/_y65lVYniax4w


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

cos − 1 θ + C

θ + C

sin− 1 θ + C

sin− 1(cos θ) + C

7. If , then f(2) equals

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2f(x) = f' (x) and f(0) = 3

4e3

3e4

2e3

3e2

https://dl.doubtnut.com/l/_y65lVYniax4w
https://dl.doubtnut.com/l/_agdqT25SXldJ


8. If , then

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫ = + + log∣∣
∣

∣∣
∣

+ C
dx

x4 + x3

a

x2

b

x

x

x + 1

a = , b = 1
1
2

a = − , b = 1
1
2

a = 1, b = −
1
2

a = 1, b = 1

9.  is equal to

A. 

B. 

C. 

∫ex( )
2

dx
1 − x

1 + x2

ex( ) + C
1 − x

1 + x2

ex( ) + C
x − 1

1 + x2

ex( ) + C
1

1 + x2

https://dl.doubtnut.com/l/_agdqT25SXldJ
https://dl.doubtnut.com/l/_3WXwdLaqpAEA
https://dl.doubtnut.com/l/_qNWpshk2ZXKI


D. 

Answer: C

Watch Video Solution

ex( ) + C
1

1 − x2

10. If , then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ex(1 + x). sec2(xex)dx = f(x) + C

cos(xex)

sin(xex)

2 tan− 1(x)

tan(xex)

11. If , then f(x) is equal to∫ex( )dx = f(x) + C
1 − sinx

1 − cos x

https://dl.doubtnut.com/l/_qNWpshk2ZXKI
https://dl.doubtnut.com/l/_ih7hFliZrZRk
https://dl.doubtnut.com/l/_vQe78F8ruKNW


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ex cot( )
x

2

e−x cot( )
x

2

−ex( )
x

2

−e−x cot( )
x

2

12.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫ dx
1 + tan2 x

1 − tan2 x

log( ) + C
1 − tanx

1 + tanx

log( ) + C
1 + tanx

1 − tanx

log( ) + C
1

2

1 − tanx

1 + tanx

log( ) + C
1

2

1 + tanx

1 − tanx

https://dl.doubtnut.com/l/_vQe78F8ruKNW
https://dl.doubtnut.com/l/_1OBxVNpMPyfi


13. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ex[ ]dx
1 + sinx

1 + cos x

ex tan( ) + C
x

2

ex tanx + C

ex( ) + C
1 + sinx

1 − cos x

C − ex cot( )
x

2

14.  is equal to

A. 

B. 

C. 

∫ dx
sin(2x)

1 + cos2 x

− log(1 + cos2 x) + C
1

2

2 log(1 + cos2 x) + C

log(1 + cos 2x) + C
1

2

https://dl.doubtnut.com/l/_1OBxVNpMPyfi
https://dl.doubtnut.com/l/_CizzwOWyrMwJ
https://dl.doubtnut.com/l/_1vwOAXmpA633


D. 

Answer: D

View Text Solution

C − log(1 + cos2 x)

https://dl.doubtnut.com/l/_1vwOAXmpA633

